restart
Ecuacion = diff (v(t),t) =-K-v(t)--2
2

Ecuacion = % v(t) =-Kv(t)

with(DEtools) :

odeadvisor(Ecuacion)
[ quadrature]

Factint == intfactor(Ecuacion)

Factlnt == 3

v(t)

EcuacionDos = [hs (Ecuacion) -Factlnt = rhs( Ecuacion) - FactInt
L

EcuacionDos = —— =-K

v(t)

SolucionDos = int( 12 , v) =int(rhs(EcuacionDos), t) + C,

V-

SolucionDos = - 1 =-Kt+C,
v

SolucionDoce = isolate(SolucionDos, v)

1
jonDoce =v=——"—
SolucionDoce = v Ki—C
SolucionVelocidad = v(t) =rhs(SolucionDoce)
SolucionVelocidad == v(t) = ﬁ_cl

Condicion = v(0) =200
Condicion :=v(0) =200

Parametro = isolate(subs(t= 0, rhs(SolucionVelocidad) = rhs( Condicion) ), Cl)

I |
Parametro = C, 200 00
SolucionParticularVelocidad = subs( C, =rhs(Parametro), SolucionVelocidad )
SolucionParticularVelocidad := v(t) = I "
Kt+ —
+ 200
EcuacionTres := diff (x(t), t) =rhs(SolucionParticularVelocidad)
FEcuacionTres := 4 x(t) = S
dr Kit+ -
200

odeadvisor(EcuacionTres)
[ quadrature]

intfactor(EcuacionTres)
1

SolucionTres = int(1, x) = int(rhs(EcuacionTres), t) + C,
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1
1n(Kt+ 200 )

SolucionTres = x = +G,

K
ParametroTres := isolate(subs(z‘ =0, rhs(SolucionTres) =0), Cz)

ln( L )
200
K

SolucionTrece = Subs( C, =rhs(ParametroTres), SolucionT) res)

1
IH(KH 200 ) | 1n(200)

K K

ParametroTres := C2 = -

SolucionTrece = x =

TiempoFinal := simpliﬁ/(isolate(rhs(SolucionTrece) = %, t) )

1

— K
1 e —
200 K

ParametroK = isolate(subs(t =rhs(TiempoFinal), rhs(SolucionParticularVelocidad) = 80),
K); evalf (%, 5)

TiempoFinal ==t =

ParametroK = K =10 ln( % )

K=9.1629
SolucionVelocidadFinal == subs(K = rhs(ParametroK), SolucionParticularVelocidad) -
evalf (%, 3)
_ 1
~9.16 £ +0.00500

SolucionRecorridoFinal := simplify(subs(K =rhs(ParametroK), SolucionTrece) ) : evalf (%,
3)

v(t)

x=0.109 In(1830.¢+1.)

TiempoFinalDefinitivo := simplify(subs(K = rhs(ParametroK), rhs(TiempoFinal)) ) :
evalf (%, 5)
0.00081855

plot(rhs(SolucionRecorridoFinal), t=0..0.001)
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_> plot(rhs(SolucionVelocidadFinal), t=0..0.001)
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_> NuevoTiempoFinal := isolate(rhs(SolucionVelocidadFinal) =20, t) : evalf (%, 5)
t=0.0049113 22)

_> NuevoRecorrido := subs(t =rhs(NuevoTiempoFinal), rhs(SolucionRecorridoFinal)) :
evalf (%, 5)
0.25131 (23)

_> plot(rhs(SolucionVelocidadFinal), t=0..0.01)
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